



**Vendor Ranking** 

Page 1 of 1

006

Contract:

E3T11-R0

District: Contract Time:

DIST/ST-WIDE, October 10, 2019 02:00 PM Call OrderGADSDEN, LEON 03191010

N/A

Project(s): 42215117298 (\*)

Contract Desc: MPBWAY3MAINTENANCE - TREE TRIMMIN@Counties:

Fed Aid No:

12/31/20 COMPLETION DATE

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	CIRCLE P SERVICES LLC	Non Responsive	e Irregular bid	\$91,963.82	100.00%
2	WD GARDNER LLC	Responsive V	Vinning bid	\$128,691.00	139.94%
3	FLORIDA RIGHT OF WAY CORPORATION	Responsive N	lon-Winning Bid	\$131,190.00	142.65%
4	T & M LAWN-FENCE SERVICE INC	Responsive N	lon-Winning Bid	\$149,135.00	162.17%
5	CLEAR ZONE MAINTENANCE, INC.	Responsive N	lon-Winning Bid	\$149,865.00	162.96%
6	ROBERTS AND ROBERTS, INC.	Responsive	Non-Winning Bid	\$222,500.00	241.94%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes. NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY

Maximum Amount to be Expended: \$150,000.00





#### **Tabulation of Bids**

Page 1 of 6

**Letting:** 03191010 October 10, 2019 **Call Order:** 006 **Contract:** E3T11-R0

District: District 3 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 12/31/20 COMPLETION DATE GADSDEN, LEON Project(s): 42215117298 (\*)

Contract Descr: MIDWAY MAINTENANCE - TREE TRIMMING

The Improvements under this Work Document-driven Contract consist of the cutting and removal of small and large trees, as well as stump removal at various locations within the Department's right of way in Leon and Gadsden Counties. Trees and stumps to be removed will be identified in the Work Document. Maintenance of Traffic and Mobilization will be incidental to tree removal, except when other MOT items listed in the proposal are determined as necessary by the Department.

This contract has a budgetary ceiling of \$150,000.00.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

A Proposal Guaranty will not be required on indefinite quantity contracts, such as work document driven contracts, with an advertised budget amount of \$150,000 or less regardless of the bid amount.

Line No / Item ID Alternate Item Description	Quantity Units	(1) CIRCLE P S	ERVICES LLC	(2) WD GAR	DNER LLC		RIGHT OF WAY DRATION
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 TRA	FFIC CON	TROL DEVICES C	ONTROL (MH)				
0005 0102 14 TRAFFIC CONTROL OFFICER	20.000 HR	53.48000	1,069.60	1.00000	20.00	50.00000	1,000.00
0010 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL	5.000 ED	37.52000	187.60	1.00000	5.00	100.00000	500.00
0015 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY	5.000 ED	62.52000	312.60	1.00000	5.00	20.00000	100.00



Page 2 of 6

# Florida Department of Transportation



### **Tabulation of Bids**

Letting:	03191010	October 10, 2019	Call Order: 006	Contract: F3T11-R0
Lemma.	03191010	OCIODEL IO ZO19	Call Order Dub	COMMACI. FOLLI-RU

Lettin	<b>g</b> : 0	3191010	October 10, 20	19 <b>Cal</b>	l Order: 006		Contract:	E3T11-R0	
	No / Item ID	Alternate	Quantity Units	(1) CIRCLE P S	ERVICES LLC	(2) WD GAR	DNER LLC		RIGHT OF WAY PRATION
	-	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	TRAFFIC CONT	TROL DEVICES C	ONTROL (MH)				
PER DA		D RUMBLE STF S ALL SETS AN		37.48000	187.40	1.00000	5.00	10.00000	50.00
0025 TREE F	E580332 21 REMOVAL (4"	TO 12")	65.000 EA	86.97000	5,653.05	150.00000	9,750.00	200.00000	13,000.00
0030 TREE F	E580332 22 REMOVAL (13		330.000 EA	185.84000	61,327.20	280.00000	92,400.00	275.00000	90,750.00
0035 TREE F	E580332 23 REMOVAL (25		40.000 EA	187.61000	7,504.40	200.00000	8,000.00	290.00000	11,600.00
0040 TREE F	E580332 24 REMOVAL (37		5.000 EA	305.50000	1,527.50	1.00000	5.00	290.00000	1,450.00
0045 TREE F	E580332 25 REMOVAL (> 4		1.000 EA	593.40000	593.40	100.00000	100.00	290.00000	290.00
0050 STUMP	E580334 1 P GRINDING (4	4" TO 24")	400.000 EA	30.97000	12,388.00	45.00000	18,000.00	30.00000	12,000.00
0055 STUMP	E580334 2 P GRINDING (2	25" TO 48")	4.000 EA	116.66000	466.64	100.00000	400.00	100.00000	400.00



12/18/2019

### **Tabulation of Bids**

Page 3 of 6

Letting:	03191010	October 10, 20	19 <b>Ca</b>	II Order: 006		Contract:	E3T11-R0	
Line No / Ite		ate Quantity Units	(1) CIRCLE P S	SERVICES LLC	(2) WD GAR	DNER LLC	• •	RIGHT OF WAY DRATION
() indicates ite	m is bid as Lump Sun	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	TRAFFIC CON	TROL DEVICES C	ONTROL (MH)				
0060 E58033 STUMP GRINDI	-	1.000 EA	746.43000	746.43	1.00000	1.00	50.00000	50.00
	AFFIC CONTROL S CONTROL (MH)	Section Totals:		\$91,963.82		\$128,691.00 <sup>°</sup>		\$131,190.00
	Contract (	Grand Totals:		\$91,963.82		\$128,691.00		131,190.00



Page 4 of 6

# Florida Department of Transportation



### **Tabulation of Bids**

Letting:	03191	010 Oc	tober 10, 20	19 <b>Cal</b>	l Order: 006		Contract:	E3T11-R0	
	lo / Item ID Description	Alternate	Quantity Units	(4) T & M LA SERVIO		(5) CLEA MAINTENA			AND ROBERTS, IC.
() indica	ates item is bid as L	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000	)1 TI	RAFFIC CON	TROL DEVICES C	ONTROL (MH)				
	0102 14 CONTROL OFFI	CER	20.000 HR	1.00000	20.00	100.00000	2,000.00	75.00000	1,500.00
	0102 76 BOARD / ADVANG PANEL	CE WARNING	5.000 G ED	1.00000	5.00	250.00000	1,250.00	300.00000	1,500.00
PORTABL	0102 99 LE CHANGEABLE MPORARY	E MESSAGE	5.000 ED	1.00000	5.00	450.00000	2,250.00	500.00000	2,500.00
TEMPORA	0102909 ARY RAISED RU , INCLUDES ALL FIONS		5.000 PS- DA	1.00000	5.00	850.00000	4,250.00	1,000.00000	5,000.00
	E580332 21 MOVAL (4" TO 12	2")	65.000 EA	100.00000	6,500.00	75.00000	4,875.00	350.00000	22,750.00
	E580332 22 MOVAL (13" TO 2	24")	330.000 EA	300.00000	99,000.00	300.00000	99,000.00	350.00000	115,500.00
	E580332 23 MOVAL (25" TO (	36")	40.000 EA	400.00000	16,000.00	270.00000	10,800.00	450.00000	18,000.00
	E580332 24 MOVAL (37" TO 4	48")	5.000 EA	1,100.00000	5,500.00	200.00000	1,000.00	650.00000	3,250.00





### **Tabulation of Bids**

Page 5 of 6

Letting	<b>g:</b> 0:	3191010	October 10, 20	19 <b>Ca</b> l	II Order: 006		Contract:	E3T11-R0	
	No / Item ID Description	Alterna	te Quantity Units	(4) T & M LA SERVIO		(5) CLEA MAINTENA			AND ROBERTS, IC.
( ) ind	licates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	TRAFFIC CON	TROL DEVICES C	ONTROL (MH)				
0045 TREE R	E580332 25 EMOVAL (> 4	8")	1.000 EA	1,600.00000	1,600.00	150.00000	150.00	1,000.00000	1,000.00
0050 STUMP	E580334 1 GRINDING (4	" TO 24")	400.000 EA	50.00000	20,000.00	60.00000	24,000.00	125.00000	50,000.00
0055 STUMP	E580334 2 GRINDING (2	25" TO 48")	4.000 EA	100.00000	400.00	60.00000	240.00	250.00000	1,000.00
0060 STUMP	E580334 3 GRINDING (>	· 48")	1.000 EA	100.00000	100.00	50.00000	50.00	500.00000	500.00
-	0001 TRAFFIC DEVICES CON		Section Totals:		\$149,135.00 <sup>°</sup>		\$149,865.00		\$222,500.00
		Contract G	Frand Totals:		\$149,135.00		\$149,865.00		222,500.00



12/18/2019

#### **Tabulation of Bids**

Page 6 of 6

**Letting:** 03191010 C

October 10, 2019

Call Order: 006

Contract:

E3T11-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.